CSRESEESGT—4 %

WEEHE
H H FERNT—4
| EER [ 84 | 2013 | 2014 | 2015 | &
IO N—THBET -2 GEH)
s &M 5,909 6,615 6,785
EERE &M 203 250 326
BB IS AT LRI &M 129 202 172
& BRI 28 &M 33 122 113
BikRE &/l 255 246 320
IS5 IW—THNAN=—RIFE S GE#)
THRILE— ERBEN/=— &M 3,480 3,663 3,641
ILYRA=HR AV IS=— &/ 1,032 1,362 1,612
HEEEEA/=— &M 1,238 1,436 1,359
REEHI8=— &M 112 107 107
BEET(TP93)
B S (FE) &M 20 23 24
— - YRR 58 () & 6.0 7.0 8.0
2955 W EEF R GER)
EES it 21 22 22
VOTAGE ) #t 26 29 28
=M #t 1 1 1
B #t 16 15 15
7IUh 4t 2 2 2
I #t 26 28 29
BES it 2 2 2
&5t it 94 99 99
B GER)
ER#E  |[IL—7 A 53,409 52,452 54,114 [EExEA
55 70495 A 2,482 2,497 2,536
Zps  |I—7 A 7,795 13,182 12,705 [EEF1. s
HRA R=—RIFt B GER)
THRILE— ERBEN/=— A 11,416 10,351 11,197 [EExEAD
ILYRA=HR AV IS=— A 16,705 17,078 15,969 |Em#ta
HEEEEA/=— A 24,258 23,899 25,731
FEEH/S=— A 12 9 10
ZDih A 1,018 1,115 1,207
iDL ER (T3, T IL—T)
EES A 5,651 5,757 5,670
7T (BERKL) A 32,496 31,071 29,025
AL 7 A h A 11,948 11,424 12,561
B - 7 21 H A 3,314 4,200 6,858
RO B ER-THEHEEER(OTDHT, JTIL—T)
EES B A 4,637 4,006 4,739
it A 889 662 852
L E % 16.1 14.2 15.2
7T B A 8,168 8,248 7,822
(BAKS =% A 17,533 21,555 19,853
L % 68.2 72.3 71.7
M7 Ah B A 6,042 6,800 6,037
it A 2,484 4,453 6,329
L E % 29.1 39.6 51.2
B -7 71 h| Bk A 3,018 3,660 4,319
L A 4,781 6,010 6,612
L % 61.3 62.2 60.5
&t B A 21,865 22,714 22,917
it A 25,687 32,680 33,646
Lt E % 54.0 59.0 59.5
ESNE L E R BB R (B
B e E SR % 54.0 54.0 60.0
HEEE [BX A 5,651 5,757 5,670
B A 47,758 46,695 48,444
dEohit B R % 89.0 89.0 89.0
BECSR£ &
H H FERNT—4
| EER [ 8 | 2013 | 2014 | 2015 | &
HFThMHEEN - MEFEHKDESH (TDV35. FIL—T)
#H&- i EREDOHER BA 2.2 4.0 4.9
Bt hL-4t B % FA 2.0 2.0 1.9
XAk # & EBA~DEFH &Ml 2.5 0.6 1.4
B FiBIZRTRIZEEDLLE % 1.94 0.30 0.82
BISREEH DMK F& 2.8 1.0 3.7
EERDI#HFETHMNBCSRIEE | (FIIL—T)
HBELDTELRT L—TEH it 48 59 54
F—BDHN—F (FEEEA—R) % 90 95 95
AT—IRIVE—- A7 EiEE$%R(TTH3)
[# 1707 Bk =R 1] 1] 3




H H FERNT—4
| ER | B | 2013 [ 2014 [ 2015 [ T =
BEFHINEZSHBEBEEENZIIL—)
BRI IL—TF an 24 24 24
SHELESH i 17 17 17
SHIERER 1t 7 7 7
wRITIN—T 1t 22 41 40
SHELERM an 17 36 35
SHIERERH 1t 5 5 5
=1 it 46 65 64
BRIBISONRIIEK R BETENES IL—T)
BRI IL—TF an 13 13 14
SHEERS #t 11 11 12
SHIERER 1t 2 2 2
wBRITIN—T 1t 22 24 24
SHELERM an 18 21 20
SHIERER 1t 4 3 4
=1 it 35 37 38
IRIZEISOSRAE BN IS 2= % 77.7 56.9 59.3 |PEBREMZEE
RIBEHEEEIEHUR Q01 EE~20155E) DEERER REEENZI IL—)
CO2#aHEHE 28I
EIEENE [ 9% | A3.6] A4.38] A1.0|&#520126
HIR: IRILFX—REINE
ENEERS % A1 AB6.0 A0.8
ERA 71X % A55 A6.4 A0.8
ENEERLR % A8.9 A9.9 A11.0
R TR —RE
EIEENE [ 9% | A22] A1.8] A1.25|54 B &R F 1
BREY
ENFEEYIEL = % 0.27 0.16 0.09 |t'RT=EmR
E RSB EIR 3% A7538 A8,340 A9,153
HER: KOEAZHIB
EREIEE km3 2,732 2,882 2,734
Bl 2R (R EE L) % AB6.0 5.5 Ab5.2
FEREAFYE ORIRE (PRTREEE)
1EIRERRE k> 1,788 1,204 876
= I HL = R % 8.0 A27.0 AA4T7 0| E#EF20105
BREE#IEEH(VOoC)
EREEE % 94 83 75
ERNEERR % A8.0 A18.0 A\26.0|E#520105
RExCE G (ERIRET ERAAVEREH)
EE e | # | 66| 62| 64
HREBEEEEERRTBEEENZI IL—T)
2995 (B %) i 4 4 4
JIL—T (&1t) 1t 10 10 9
=1 - 14 14 13
F=FICKHEEE-RAE(TDI3)
ZER A % 1 1 2
ZEIEE lia 2 2 3
EREEORE A58 Ei3 Ei3 Ei3
FEBRALEST (BEEENZRIIL—T)
EROEE |7205 L 0 0 0
gI—> % 0 0 1
a&t % 0 0 1
HFMETLIIEZOEIAEL (TPU3)
EKICFESLMOERE Kg 306.0 546.6 573.5
PR AR D SR E AR ha 0.02 0.03 0.03
BESH (EROERESEY IL—)
[3RF] BE/ER BE/ER BE/ B
EET)F7HIARL EVils 570.9/1234.2 651.4/1337.8 280.4/1,311.7
LETFHFEaAXE BAH 0.0/18.7 0.0/15.1 0.0/18.7
BEEEH IR BAA 1.6/248.0 0.0/230.9 1.6/243.7
MZERFEIR BAH 257.9/611.0 357.4/855.2 216.1/959.7
#HEFEEIRE EVils 0.0/16.1 0.0/138 0.0/11.8
REEGXEIRE BAHA 0.0/50.1 0.0/46.1 0.0/39.5
At BAH 828.8/2178.1 1008.7/2498.8 498.1/2585.1
[$hE]
AEML. HERBEREHE BAA 148 62.6 28.2
ERBEERME BAEH 631.0 608.5 733.0
ETRHE BAHA 0.2 0.2 0.1
FIEEETR BAEH 0.0 0.0 0.0
HRFAF BAHA 14.0 0.0 0.0
HILFIHR BAEH 0.0 0.0 0.0
At BAH 660.0 671.3 761.3
EETHIHEOIBERE ENOBREEESIL—)
INPUT
[R 445 87 ko 87,600 95,800 99,600
RUTFLY 2 15,700 15,800 15,400
RUEIEE=IL (2 11,700 11,700 11,200
FILZ % 3,000 3,500 4,700
% 32 2,900 2,100 1,600
IRILF¥— FHCa— 3,107,113 3,094,454 3,076,323
BUKE| LK 32 168,000 171,410 167,985
TERAK 2 599,000 616,563 654,270
H#TFK 32 1,965,000 2,093,782 1,912,208
HEKE | HEKE (=BRKE) (% 2,732,000 2,881,755 2,734,463
OUTPUT
GHG|I# )L+ —#2]RC02 [ 168,299 166,359 159,541
2 AR Co2 [ 8,504 7,982 7,345
EEY|EEMHLHE 2 7,988 8,197 8,834
A BN S (% 45 26 15
LY E |PRTREEH - #2085 (% 47 28 34
VOCHIHE 2 94 83 75




WS = FAANDEFN—THRBAR (TTI3)

[ FHEDFHITRASRME [=] 2 2
EIHER A 117 245 284
CDOPAh— R BIRDEM (T 3)
[EF{M#E 2 (10045 5 . A~ ESERRE) [ &/100 | 61D | 77C | 95C |
M=
[(REEE- RERI)
R H FERNT—4
| EEER | &6 2013 | 2014 | 2015 | g =
1O - REREOHEEHOPH3. FIL—T)
[Z297]
EZHEEH A * 2,898 3,213
FESZEERFE iG] * 47974 49,373
(D955 LV —7]
EZFEEH A * * 12,796
IEZ RS i3 * * 118,667
mEEE- RERINEE (Y IL—T)
[HL—L4E% [ &% | 129] 184] 139[R# 20114
REIRDAVNRT LIZET RRIERE (JIL—)
1S09001 (D FBEEER 1541 3% 1t 31 33 33
TS16949MD R ELER 1541 34 i 19 18 18
1SO13485(M FRELER 5 11 31 #t 3 3
1SO17025(M FBEEER 15 11 31 #t 1 2
RSt 8 # 54 56 56
BEE % 94.7 80.0 87.5
BRI E - AREARRE GEL)
RiERE5E &M 255 246 320
MR EL EH 147 152 162
(#4183 —2F+])
H H FERNT—4
| ER [ 84 | 2013 | 2014 | 2015 | ES
HERR. BZOREEHR(OTDUT)
omEKHE B A 342 337 325
it A 64 59 65
it A 406 396 390
30~397% B4 A 574 533 558
=ik A 124 105 91
G A 698 638 649
40~495% 2L A 830 826 831
& A 115 140 155
& A 945 966 986
50~597% Hit A 412 471 479
=ik A 19 22 26
G A 431 493 505
607% A £ it A 2 4 6
it A 0 0 0
& A 2 4 6
HEFEHER(TOUD)
218 B 40.3 40.8 40.9
B4 % 40.7 41.2 41.2
gk B 375 38.3 38.5
HEHEER(TDUD)
2318 B 15.9 16.3 16.2
B4 % 16.2 16.6 16.5
gk % 13.7 14.2 14.4
RAHLE#HOII7)
FRAMEH(KEZELL) A 42 43 42
SEBMH A 37 38 33
Sb&tE A 5 5 9
BB EH(OUUT)
B EEH) BERAT B % A 44(1.8%) 31(1.2%) [ O) dmersze
5t Bt A X 28 24| XEHA L RRERENE
5%t A 16 7|E
HAHE CEHIARL) DEBKRR(TPI7)
ABRBDHET A 88=84 77=73 47=43
BERE % 45 5.2 8.5
56 B O HE A 79=76 66=63 41=37
SHEMHDHR A 9=8 11=10 6=6
ZHEEEBLEE(OCI5. JIL—)
(22935 V—7]
i E R LR % 1.7 11.1 94
THEOEHRELED LR % 8.5 12.9 13.4
THDREHEAE) % (N) * * *(29)
[LHEEOERT IIL—T]
THEER &R % 1.1 1.3 15
THEOERELE DL R % 0.3 0.0 0.9
ZHDZREEE(AR) % (AN) * * *(0)
G IL—7]
i E R LR % 14.7 19.4 17.4
THEOEHRELED LR % 13.1 18.0 18.3
THDREHEAE) % (N) * * *(29)




GEst oHhigRIPIER)
B7S7(BERR
K S TR % 335 33.0 35.3
THDOERBL LD =R % 135 15.0 19.1
ZHEDERE R (AR % (AN) * * *(3)
mEL7AA
K S TR % 5.0 10.2 6.7
THDOERBL LD =R % 14.0 22.2 18.5
THEOBZE RN % (A) * * *(23)
MEU-72UAhH
K SRR % 16.4 23.1 17.4
THDOERBL LD R % 95 14.3 16.1
ZHEDERELE (AR % (AN) * * *(3)
LHEEEK(T205)
EIERE A 13(1.5%) 14(1.5%) 14(1.5%) |O)lF&xttt=
SHERRE A 0(0.0%) 0(0.0%) 2(1.4%)
BB BITRED) A 0(0.0%) 0(0.0%) 0(0.0%)
SHEITRE A 0(0.0%) 0(0.0%) 0(0.0%)
EANEEROII2)
EALER A 62 65 66
EAVEERE % 1.85 1.97 2.0
SNEANMEOERARTCIS)
SRR A 3 4 5|&mumLLE A%
SHER R A 0 0 0
BB BTRED) A 1 1 1
SHLMITIRE A 1 1 1
[(7—5547-1"\52R]
E H FEEMNT—4
| EER | B | 2013 [ 2014 [ 2015 [ T =
EX- aAROIMEKREOPI3)
EARSEHR A 16 17 24
BRALIEER A 39 40 32
Sttt A 37 38 31
S5t 8t A 2 2 1
AEREE Stkxi = 100 100 100
5t Btk ES 1.9 1.9 1.2
BIRALERE ES 100 100 100
NEREOMEBKRREODIS)
NEARERESER PN 1] 0| 0]
ERARBOWMEIKREOTDI3)
HRARIREGE [ % | 51.6 | 56.0 | 53.3 |
RITA7TRBREKRE (TPI3)
(RS2 T1 7 RBER G E [ A | 43 | 55 | 128 |
FEEREEIE L ISR T IRYEAIKR (TT07)
|55 2 w50 (B5RI/B) HEGH 31.2 | 30.2 | 30.8 |
[(FE=R2EE]
IE H FEEHNT—42
| EEER EEXEE 2013 | 2014 | 2015 | g =
FERKEREKT: KEEHEODID) SR SR = R MBS E B A S BRI 1005 BERS
EEEEES | EgE | 0.00 | 0.18 | 0.44 |
REEE. BEOUBEDEH T3, T IL—)
(734751
EZHEEN A * 4,078 7,264
Ik 2 5 R RS B * 5,391 6,707
(72455 L—7F]
EZHEEHR A * * 15,515
I 2 RS RS * * 27,480
OHSAS18001 (BREBAER AU AR AT L) BEIRE (T IL—T)
[E2EEER G4t 3 #t 4 4] 6 |
[A#MER]
IE H FEEHNT—42
| EEER EEXEE 2013 | 2014 | 2015 | g =
AMBERTHE I —ZREROTTHS)
ElES A * 22,973 26,708
Lk A * 3,618 5,092
&t A * 26,591 31,800
ANHBRES (OUH5. T IL—T)
[7245]
SR/ E— A =) * 40.7 415
ABBEREE/#ME—A ¥H * 170.9 195.0 |E8ESE
[FIL—T] BE& . BEE7V7—MTH
/B R
SZHEME/AAE—A R * * 12.1
ANPABERBE/#E— A FH * * 49.9




[ =—Fo~DSHE., RE])

WIS =T AL DR FEDIEE

TFEDHR CRASEE ] 2 2 2
EigE A 117 245 284
iS558
2P T ORIBEE/ Ak BAM 135 135 135
Eth—T S &AM 16.1 13.8 118
Z0ith EVils) 0 0 0
BAH/NFUR
[a—RL—k-H/\F2R]
& -EERODI7)
e N 9 9 10
5% 4 4h R A 1 1 1
] A 4 4 4
St A 2 2 2
[a2T5472R]
JEE-THILECHATAIHESRT (U IL—T)
ESHEY x * 2.866 4,967
IE 2 AR B * 3,140 5,993
BEROHE # * 0 0
B EE T A ERE (JIL—T)
ESBEY x * 1,564 2506
IE 2 HR5RY B * 902 1,421
BEROHE # * 0 0
MEBRRSIE 12 b ELF-aV TSAT U RICET A ESE (JIIL—T)
5E . FEEROLER
W #t * * 38
55ER it * * 24
5% 851 it * * 14
ESBEY x ¥ 4,759 20238 |2EE5E
IE 2 HR5RY B * 4,560 38,877 |#% BEETL s —FaFA
[BZIMEREDRESE A * 18,238 155,507 |/FM
EROHE H% * 0 0
NEBERFE (TS03)
EEREEL A [ & | 0| 3] 15]
[URHZRIAR]
JRITFSAUNHE (ElRtxa)T1. MNHE) (IC95. FIL—T)
(95551
EZEEN x * 9.597 9.426
e A B S * 3,493 4,046
[FIL—7]
ESBEY x * * 18,031
IE 2 HA5RY B * * 37,701
EHRtX 1) TAHHEZEDEFH (T35, FIL—T)
ESBEY x * 9.329 9.128
IE 2 HA5RY B * 2332 2282

UL




